
(       )

DETAIL OF DRIVEN SHAFT

ROLLER TABLE-1CAD/A3
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated.
Do not Scale. If in doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

1

27-02-2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

SMS DRG. No.- 0301512-00.101_08 P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-42Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL

JOB No.
000135/11-12

Drawing No.4174-42
SheetNext

14174-43

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

B

Plot Date :-

SheetRevision

10

2 3 4 5 6 7 8 9 10 11 12

1 2 3 4 5 6 7 8 9 10 11 12

A

C

D

E

F

G

H

B

A

C

D

E

F

G

H

Please Do Not Scale. If in Doubt, ASK. ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
---

-
---

C.S / 06-01-2012
RAJESH / 27-01-2012

7.77DRIVEN SHAFTIS:187545 C84

WEIGHT (Kg.)
REMARKS

TotalEach
DESCRIPTION

IS & DIN
Std.

MATERIALITEM NO.QTY.

31.0801

1:1.5

BHEL REF. No.- 1-7-0123.99-08016

02 40C8 IS:1570-II4 KEY 12x8x40 L.G 0.03 0.12

IS:1570-II03 40C84 KEY 18x11x125 L.G 0.2 0.8

B.MT / 27-01-2012

1.63.2 0.8

68.519068.559

45
k6

+ 0+0
.02

Ø
50

Ø
60

j6
-0

.01
+0

.01

Ø
50

22

R1.50

Ø
45

k6
+0+0

.02

Ø
45

h6
-0

.020

R2
R0.5 TYP.28

Ø
42

j6
-0

.01
+0

.01

10741.5

R9

33

8

464

22

R2

R6

2 Nos. TAPPED M10x20

A

A

B

B C

0.80.81.6

1.6

12
N9

-0
.040

37 -0.20
0

SECTION A-A

3.2

3.2

3.2

1.85 H13 0
+0.14

Ø
42

.50
h1

2
- 0

.250

3.8
1 TYP.45°X

DETAIL C
SCALE 3 : 1

3.2

3.23.2

53 -0.20
0

18
N9

-0
.040

SECTION B-B

3.2

3.2

3.2

BHEL DRG NO:2-9-1157-00-00230



11.48

IS & DIN

IS:1570-II

Std.
Total

-

WEIGHT (Kg.)
Each

REMARKSDESCRIPTIONMATERIAL

01

ITEM NO.QTY.

5.74SHAFT40C82

(  ,   )

1 2 3 4 5 6 7 8

D

B

A

7 8

D

B

A

1 2 3 4 5 6

CC

Please Do Not Scale. If in Doubt, ASK.

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 01 OF 1

4174-96 RevisionDrawing No.:-

PPRM

Scale

Format/Sh.Size

Title.

Equi.

DETAIL OF SHAFT

ROLLER TABLE-2

1:1

CAD/A3

MaterialKey Characteristics:
40C8

Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale.
In doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

-

Plot Date :- 27-02-2012

Heat Treatment
-

Hardness
-

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

Drawn By / Date
Chkd. By / Date
Appr. By / Date

EW  /  13-10-2011

ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
- - -

---
-

RAJESH  /  17-02-12
B.M.T  /  17-02-12

Drawing No.4174-96

SheetNext

01-

Client :-
BHEL 000135/11-12

Job No. :-

0.83.2 1.6

29.5 7033

Ø
65

j6
- 0

.00
7

+0
.01

2

Ø8
0 0.

00
-0

.20

Ø
84

-0
.300

Ø7
5 0 -0

.01
9h6

31.5

164

R1

4x45°
R0.5

R1
2x45°
TYP.

STANDARD CETER HOLES
ON BOTH ENDS

0.02 B

0.02 B

0.01 A
B

A

1.6

0.8

A

ON 40 PCD EQUI SPACED
3 No. M12 x30 DEEP

12
0°

NOTCH 1.5 DEEP & 2 WIDTH

Ø
5

Ø
12

.5 60
°

12
0°

1.6
12.5

DETAIL:-A
SCALE:-2:1

BHEL DRG NO:3-9-1157-00-00326



16.92

IS & DIN

IS:1570-II

Std.
Total

-

WEIGHT (Kg.)
Each

02

REMARKSDESCRIPTIONMATERIAL

01

ITEM NO.QTY.

2 IS:1570-II40C8 0.090.09KEY 14x9x94 L.G BOTH END ROUND

8.46SHAFT40C82

(  ,   )

1 2 3 4 5 6 7 8

D

B

A

7 8

D

B

A

1 2 3 4 5 6

CC

Please Do Not Scale. If in Doubt, ASK.

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 01 OF 1

4174-95 RevisionDrawing No.:-

PPRM

Scale

Format/Sh.Size

Title.

Equi.

DETAIL OF SHAFT

ROLLER TABLE-2

1:1

CAD/A3

MaterialKey Characteristics:
40C8

Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale.
In doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

-

Plot Date :- 27-02-2012

Heat Treatment
-

Hardness
-

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

Drawn By / Date
Chkd. By / Date
Appr. By / Date

EW  /  13-10-2011

ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
- - -

---
-

RAJESH  /  17-02-12
B.M.T  /  17-02-12

Drawing No.4174-95

SheetNext

01-

Total Qty.

Client :-
BHEL

2

000135/11-12
Job No. :-

1.63.2 0.8

Ø
50

m6
+0

.00
9

+0
.02

5 Ø
60

f7
-0

.06
0

-0
.03

0

Ø
65

j6
-0

.00
7

+0
.01

2

Ø
80

-0
.200

Ø
84

-0
.300

Ø
75

.13
9h

6
- 0

.01
9

0

100 29 713331.5
R1

R1

4x45°

2x45° 1x45°

R0.5

3

54.5
64.5

319

R1 R1
R1

94

STANDARD CENTER HOLES
ON BOTH ENDS

3 TAP HOLES 10x30
ON 30 PCD EQUI SPACED

NOTCH 1.5 DEEP & 2 WIDTH0.02 B
0.02 B

0.02 B

0.02 A
B

A

A

B

1.6

0.8

A

14
N9

-0
.04

3
0

44.5 -0.2
0

Ø 50 m6 +0.009
+0.025

SEC:-AA

Ø
5

60
°

12
0°

1.6
12.6

Ø
12

.5

DETAIL:-B
SCALE:-2:1

BHEL DRG NO:3-9-1157-00-00325



100.16

IS & DIN

IS:1030

Std.
Total

230-450N

WEIGHT (Kg.)
Each

REMARKSDESCRIPTIONMATERIAL

01

ITEM NO.QTY.

50.08SUPPORT ROLL ( FOR SPROCKET )CAST STEEL2

NOTE:-
1. UNSPECIFIED RADII TO BE 5 TO 10mm.
2. CASTING SHOULD BE FREE FROM BLOW

HOLES & TO BE SAND BLASTED.
3. ALL UNMACHINED SURFACES TO BE SMOOTH

IN THE CASTING MAINTAINING THE DIMENSIONS.
4. ALL DIMENSIONS MENSIONED ARE FINISHED SIZE

M/C. ALLOWANCE TO BE 5 TO 10mm ON EACH SURFACE.
MATL.- CAST STEEL - IS:1030, Gr.- 230 - 450N

(    )

1 2 3 4 5 6 7 8

D

B

A

7 8

D

B

A

1 2 3 4 5 6

CC

Please Do Not Scale. If in Doubt, ASK.

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 01 OF 1

4174-07 RevisionDrawing No.:-

PPRM

Scale

Format/Sh.Size

Title.

Equi.

DETAIL OF SUPPORT ROLL ( FOR SPROCKET )

ROLLER TABLE-2

1:2

CAD/A3

MaterialKey Characteristics:
CAST STEEL

Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale.
In doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

-

Plot Date :- 27-02-2012

Heat Treatment
-

Hardness
-

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

Drawn By / Date
Chkd. By / Date
Appr. By / Date

EW  /  31-12-2011

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING

IS THE SOLE PROPERTY OF PPRM . ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE PERMISSION OF

PPRM IS PROHIBITED.

ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
- - -

---
-

RAJESH  /  17-02-12
B.M.T  /  17-02-12

Drawing No.4174-07

SheetNext

01-

Total Qty.

Client :-
BHEL

2

000135/11-12
Job No. :-

3.26.3

= 190 =

Ø
75

H7
0+0

.03
0

Ø
29

0 Ø
12

0

10

R10

R2
TYP.

Ø 133 PIPE MAX.

Ø 26.7 PIPE MIN.

3.2

BHEL DRG NO:3-9-1157-00-00324



DETAIL OF ROLL LOCK PLATE

ROLLER TABLE

1:1

CAD/A4
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated.
Do not Scale. If in doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

1

27-02-2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

SMS REF. No.- 0301512-00.101_08 P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-53Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL

JOB No.
000135/11-12

Drawing No.4174-53
SheetNext

14174-54

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

B

Plot Date :-

SheetRevision

10

2 3 4 5 6 7 8 9 10 11 12

1 2 3 4 5 6 7 8 9 10 11 12

A

C

D

E

F

G

H

B

A

C

D

E

F

G

H

Please Do Not Scale. If in Doubt, ASK.

QTY. ITEM NO. MATERIAL DESCRIPTION REMARKS
WEIGHT (Kg.)Std.

IS & DIN Each Total

ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
---

-
---

10 E 250 A IS:2062 ROLL LOCK PLATE 0.42 4.2

C.S / 07-01-2012
RAJESH/16-02-2012

BHEL REF. No.-1-7-0123.99-08016

01

B.M.T/17-02-2012

6.34 Nos. Ø 11 THRU.
DRILLED HOLES ON Ø80 P.C.D

EQUI. SPACED
A

A

Ø
10

0
Ø

51

2 45°X

10

SECTION A-A

BHEL DRG NO:3-9-1157-00-00288



NOTE:-
1. UNSPECIFIED RADII TO BE 5 TO 10mm.
2. CASTING SHOULD BE FREE FROM BLOW

HOLES & TO BE SAND BLASTED.
3. ALL UNMACHINED SURFACES TO BE SMOOTH

IN THE CASTING MAINTAINING THE DIMENSIONS.
4. ALL DIMENSIONS MENSIONED ARE FINISHED SIZE

M/C. ALLOWANCE TO BE 5 TO 10mm ON EACH SURFACE.
MATL.- CAST STEEL - IS:1030, Gr.- 230 - 450N

(    )

DETAIL OF ROLL

ROLLER TABLE-1CAD/A3
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated.
Do not Scale. If in doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

1

27-02-2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

SMS DRG. No.- 0301512-00.101_08 P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-06Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL

JOB No.
000135/11-12

Drawing No.4174-06
SheetNext

14174-07

B

Plot Date :-

SheetRevision

10

2 3 4 5 6 7 8 9 10 11 12

1 2 3 4 5 6 7 8 9 10 11 12

A

C

D

E

F

G

H

B

A

C

D

E

F

G

H

Please Do Not Scale. If in Doubt, ASK. ALT.No.REV.

-

REVISION DETAILS APPROVEDDRAWN CHECKED

-
---

-
---

C.S / 31-12-2011
RAJESH / 17-02-2012

1:2

52.21ROLLIS:1030CAST STEEL18

WEIGHT (Kg.)
REMARKS

TotalEach
DESCRIPTION

IS & DIN
Std.

MATERIALITEM NO.QTY.

94001 Gr. - 230-450N

BHEL REF. NO.- 1-7-0123-99-08016

B.M.T / 17-02-2012

6.3 3.2

4 Nos. M10 x 25
TAPPED HOLES ON Ø80 P.C.D.

EQUI. SPACED BOTH SIDES

18 js9 -0.02
+0.02

64
.40

0+0
.20

3.2

3.2 Ø
12

0

10 10
190

Ø
29

0

90°

R10

R2 TYP.

3.2 3.2

BHEL DRG NO:3-9-1157-00-00282



SPAREAGE

H-T

IS:2293-

-10

6 DOWEL PIN Ø 8x20

PLUG M2011

12

VSTI-M

IS:1364

IS:3063-

HTS80

80

09

10 SPRING WASHER M8

HEX. HD. SCREW M8x25 Gr 8.8

IS:1364

IS:3063

-

-

IS:4009

IS:3075

-

-

-

-

HTS

-

72

72

6

12

6

12

12

12

07

08

06

05

03

04

02

01

TotalEach
WEIGHT (Kg)QTY. ITEM NO. MATERIAL

IS & DIN
DESCRIPTION

SPRING WASHER M10

HEX. HD. SCREW M10x30

'O' RING Ø 80x3

'O' RING Ø 123x4

GREASE NIPPLE 1/8" BSP

CIRCLIP TYPE-A, Ø 45

OIL SEAL Ø 55xØ 80x8

SPHERICAL ROLLER BRG.  22209

Std.

--

IS:5129-

Gr 8.8

SPAREAGE2 13 OIL SEAL Ø 50xØ 68x8IS:5129-

--12 14 'O' RING Ø 121x6

--1 15 AIR BREATHER G1-1/2"

08

10
10

08

09
10

ALT.No.REV.

1

REVISION DETAILS APPROVEDDRAWN CHECKED

REVISION DRG. ADDED. 21.09.12 21.09.12 21.09.12
S.K GUPTARAJESHEW

1

Drawing No.4174-05

1 2 3 4 5 6 7 8

A

B

C

D

A

B

C

D

1 2 3 4 5 6 7 8

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.

Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 12 OF 2

4174-05 RevisionDrawing No.:-

PPRM

Scale

Format/Sh.Size

Title.

Equi.

Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale. In doubt,
please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000
-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

Plot Date :- 9/29/2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

EW / 2/2/2012
RAJESH / 2/8/2012
B.M.T  /  17-02-12

ROLLER TABLE-2

DETAIL OF ROLL ASSY. - 21:2

CAD/A2

Please Do Not Scale. If in Doubt, ASK.

Client Name :-
BHEL

Job No. :-
000135/11-12

163.5 23

10

19.5

12 42.5

43

5

10
153.5 52.5
150 46355.5

223.5
163.5233745

Ø
45

Ø
50

55

65 0.5
95

85

14
0

77

15
8

8
10

Ø
0

10

190

154 15442
65

42
46

10

Ø
12

5 16
0

15
2

15

Ø
42

Ø
50

Ø
45

Ø
60

SECTION 1-1

04 07

01

06

4174-06

4174-46
094174-53

03

05

09

12

07

11

02

4174-48R1

4174-61
4174-71R3

4174-60 4174-50R14174-54R1/02

4174-47

4174-69R1

4174-45
4174-51-03

4174-51

4174-51-03

4174-51-02

4174-71R4

4174-106

13

4174-44

14

BHEL DRG NO:2-9-1157-00-00334



SPAREAGE

H-T

IS:2293-

-9

5

13

14 DOWEL PIN Ø 8x20

PLUG M20 VSTI-M

IS:1364

IS:2016-

HTS8

8

11

12 PLAIN WASHER M10

HEX. HD. SCREW M10x25 L.G Gr 8.8

IS:1364

IS:3063-

HTS64

64

09

10 SPRING WASHER M8

HEX. HD. SCREW M8x25 Gr 8.8

IS:1364

IS:3063

-

-

IS:4009

IS:3075

-

-

-

-

HTS

-

60

60

5

10

5

10

10

10

07

08

06

05

03

04

02

01

TotalEach
WEIGHT (Kg)QTY. ITEM NO. MATERIAL

IS & DIN
DESCRIPTION

SPRING WASHER M10

HEX. HD. SCREW M10x30

'O' RING Ø 80x3

'O' RING Ø 123x4

GREASE NIPPLE 1/8" BSP

CIRCLIP TYPE-A, Ø 45

OIL SEAL Ø 55xØ 80x8

SRB 22209

Std.

--

IS:5129-

Gr 8.8

SPAREAGEOIL SEAL Ø 50xØ 68x8IS:5129151 -

10 16 'O' RING Ø 121x6--

AIR BREATHER G1-1/2"--1 17 TB

10

08

12

10 08

ALT.No.REV.

1

REVISION DETAILS APPROVEDDRAWN CHECKED

REVISION DRG. ADDED. 21.09.12 21.09.12 21.09.12
S.K GUPTARAJESHEW

1

Drawing No.4174-04

1 2 3 4 5 6 7 8

A

B

C

D

A

B

C

D

1 2 3 4 5 6 7 8

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.

Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 12 OF 3

4174-04 RevisionDrawing No.:-

PPRM

Scale

Format/Sh.Size

Title.

Equi.

Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale. In doubt,
please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000
-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

Plot Date :- 9/29/2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

C.S / 2/6/2012
RAJESH / 2/6/2012
-

ROLLER TABLE-1

G.A OF ROLL ASSEMBLY1:2

CAD/A2

Please Do Not Scale. If in Doubt, ASK.

Client Name :-
BHEL

Job No. :-
000135/11-12

BHEL REF. No.- 1-7-0123.99-08016
SMS DRG. No.- 0301512-00.101_08

216321

15

Ø
12

0

Ø
42

h6

Ø
50

163.5 163.5 23

154154

Ø
40

j6

23

223.545

521.5

Ø
50

Ø
60

j6

Ø
50

Ø
45

k6

SECTION B-B

4174-43R1 4174-54

4174-61

4174-40R3
4174-50R1

4174-44

4174-45

4174-106

4174-51-03

4174-06

4174-53

4174-45

4174-41R1

4174-46

4174-47

4174-51-014174-51-03

4174-51-02

15

4174-60

16

09
10

37
1052.5

46150
153.5

Ø
12

5

Ø
12

5

42 10

105

Ø
85

Ø
45

k6

Ø
50

Ø
60

j6

Ø
50

Ø
45

h6

Ø
42

j6
190

1010

12 42.5

19.5
23163.5

Ø
29

0

8

7
15

8
7

10
14

0
8

85
95

2

15 70 65 154
60 153.5

77

45 23 163.5

22

27

12

8.5 4

8

65

42 154 154

43

Ø
10

0
Ø

80

46

45

46.50 46.50

46.50

16
0

SECTION A-A

4174-42

4174-49

4174-50R1

02

03

04

05

06

09

07

11

13

14
09 07

01
04

01

BHEL DRG NO:2-9-1157-00-00332



1 2 3 4 5 6 7 8

D

B

A

Sheet
P.P. Rolling Mills Mfg. Co. Pvt. Ltd.

Plot No. I-42, DLF IInd Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in 1 1 OF 1

2-9-1157-00-00244RevisionDrawing No.:- 

PPRM

Scale

Format / Sh.Size

Title.

Equi.

1:1

CAD/A3

JOB No:-Client Name:-

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated. Do not Scale. In doubt,
please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

 for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8

7 8

SYMBOL

Ra u 25

25

D

B

A

1 2 3 4 5 6

C

C

Plot Date :- 09.02.12

Please Do Not Scale. If in Doubt, ASK.

Drawn By / Date
Chkd. By / Date
Appr. By / Date

E.W /  18-01-12
RAJESH  /  17.02.12
B.M.T / 17.02.12

SMS DRG. No.- 0301512-00.101_11

ROLLER TABLE-2

DETAIL OF DRIVEN ROLL

000135/11-12M/s  BHEL (TRICHY) 

ALT.No.REV.

1

REVISION DETAILS APPROVEDDRAWN CHECKED

DRG. MODIFIED. REVISION DRG. ADDED & ITEM LIST MODIFIED. EW
1 21.09.12

RAJESH
21.09.12

S.K GUPTA
21.09.12

Ø6
2

Ø6
5

Ø5
0 

H7
/k6

12
0

50

8.08541.92

80

111.92350

80

65 15

Ø8
4 h

12

Ø8
0 

h1
1

Ø7
5 

H7
Ø7

5.1
39

 h6

Ø7
5 

H7
Ø7

5.1
39

 h6

135 135

Ø6
5 

J6

Ø7
5

Ø1
20

Ø8
4 h

12

Ø8
0 

h1
1

Ø6
5 

J6

Ø6
0 

H8
/f7

Ø8
0 

h1
1

21571

319

100

154.5

183.5

(49)164

29.5

61

70

R1

Ø6
5

Ø5
0 

H7
/k6

12
0

50

8.08541.92

80

111.92350

80

65 15

Ø8
4 h

12

Ø8
0 

h1
1

Ø7
5 

H7
Ø7

5.1
39

 h6

Ø7
5 

H7
Ø7

5.1
39

 h6

135 135

Ø6
5 J

6

Ø7
5

Ø1
20

Ø8
4 h

12

Ø8
0 

h1
1

Ø6
5 J

6

Ø6
0 

H8
/f7

Ø8
0 

h1
1

21571

319

100

154.5

183.5

(49)164

29.5

61

70

R1

30

5

SEC:-2-2

0304

01

4174-98/01
4177-39/02

4177-40

4177-35R3/01

4177-38R1/01

4177-37

4177-39R1/01

4174-96

4174-954174-07

02

12

1716

0604

08

15

1009

11

4174-115R1/01

161.91

196

35 5

Ø5
0 

h1
1

60.3345

Ø4
0 H

7/k
6

Ø4
1 H

8/f
7

Ø4
2 

H7
/j6

Ø4
5 H

8/f
7

Ø4
5 

j6

Ø5
0

Ø6
0 

H7
/j6

Ø1
25

60
4174-54R1/03

SEC:-1-1

4174-116R1/01

4174-117/01

18

SEC:-3-3

4177-35R3/02

4174-61/01
4174-60/01

4174-50R1/01

4174-131/01

13 14

07

05

QTY. ITEM NO. MATERIAL DESCRIPTION REMARKSWEIGHT (Kg.)Std.
IS & DIN

01

Each Total

02

4

03

6

04

12

06

24

--

07

12

--

11

6

--

IS:5129 (II)NBR ROTATRY SHAFT SEAL ( 80x100x13)

---- SELF ALIGNING ROLLER BEARING 22213 C3 -- --

--

--

IS:1364Gr - 8.8

IS:6735 SPRING LOCK WASHER M8

IS:1364 HEX. HD. SCREW M12 x 30 L.G

IS:2269 HEX. SOCKET HD. CAP SCREW M8 x 30 L.G

SKF

(SD-1088)
SPAREARE

HEX. HD. SCREW M8 x 25 L.G --

12

BUTTON HEAD GREASE NIPPLE 1/4" BSP

--

--

13

IS:40094

--

Gr - 8.8

Gr - 8.8

14 --

15 --

16

IS:40093

IS:1364Gr - 8.8

SPRING LOCK WASHER M6

HEX. HD. SCREW M6 x 20

--

IS:1364 HEX. HD. SCREW M24 x 80

IS:1364 HEX. NUT M24

IS:2016 PLAIN WASHER M2417

8

8

8

3

2

18

-- DIN 8187

--

Gr - 8.8

Gr - 8.8

1 IS:5129 (II)NBR ROTARY SHAFT SEAL Ø50 x Ø68 x 8 SPAREARE

SIMPLEX CHAIN DIN 8187-16B-1, 52 LINKS+CONN. LINKS

052 --IS:4009 PLUG 3/8" BSP--

08 --6 IS:3063 SPRING WASHER M12-

09 --6 IS:1364 HEX. HD. SCREW M10 x 30 L.GGr - 8.8

10 --6 IS:3063 SPRING WASHER M10-

4174-112

BHEL DRG NO:2-9-1157-00-00244



(   )

DETAIL OF DRIVE SHAFT

ROLLER TABLE-2CAD/A3
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated.
Do not Scale. If in doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

1

9/29/2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-48Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL

JOB No.
000135/11-12

Drawing No.4174-48
SheetNext

14174-49

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

B

Plot Date :-

SheetRevision

11

2 3 4 5 6 7 8 9 10 11 12

1 2 3 4 5 6 7 8 9 10 11 12

A

C

D

E

F

G

H

B

A

C

D

E

F

G

H

Please Do Not Scale. If in Doubt, ASK. ALT.No.REV.

1

REVISION DETAILS APPROVEDDRAWN CHECKED

DIM 56 WAS 50
B.M.TRAJESHC.S

1
07-05-2012

C.S / 1/10/2012
RAJESH / 2/17/2012

1:1.5

8.65DRIVE SHAFTIS:187545 C81

WEIGHT (Kg.)
REMARKS

TotalEach
DESCRIPTION

IS & DIN
Std.

MATERIALITEM NO.QTY.

01 8.69

SMS DRG. No.- 0301512-00.101_07
BHEL REF. No.- 1-7-0123.99-08015

021 0.030.03KEY 12x8x40 L.GIS:1570-II40C8

40C8 0.040.04KEY 12x8x50 L.GIS:1570-II031

0.2KEY 18x11x125 L.GIS:1570-II041 40C8 0.2

B.M.T / 2/17/2012

07-05-2012 07-05-2012

3.2 1.6

55 68.5 190 68.5 33

12532.5

18

Ø4
0+0

.01
-0

.01
j6

Ø4
2 0 -0

.02
h6

Ø4
5+0

.02
+0

k6

Ø5
0

Ø6
0+0

.01
2

-0
.00

7j
6

Ø5
0

Ø4
5+0

.01
8

+0
.00

2k
6

Ø4
2.5

 0 -0
.16

h1
1

Ø4
2+0

.01
-0

.01
j6

48
40 4

R.5 TYP.R1
R.5

56

552

81

5
1

C

C

A

A

B

B
D

1.6 1.6

53
 0.00
-0.20

18
 0 -0

.04
N9

SECTION C-C
SCALE 1 : 1

35
 0.00
-0.20

12
 0 -0

.04
N9

SECTION A-A
SCALE 1 : 1

3.801.85
+0.14
 0 H13

1 45°X

DETAIL D
SCALE 4 : 1

37
 0.00
-0.20

12
 0 -0

.04
N9

SECTION B-B
SCALE 1 : 1

BHEL DRG NO:2-9-1157-00-00233



(   )

DETAIL OF DRIVE SHAFT

ROLLER TABLE-1CAD/A3
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2±0.1
120
±0.3

400
±0.5

1000
±0.8

All dimensions are in Millimeters  unless otherwise stated.
Do not Scale. If in doubt, please ask.

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-
6

6
30

30 120 400 1000
2000 120 400up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

1
6

6
30

30 120

±10' ±30'±20'±6'1.6

1.6

12.5

12.5

3.26.3

3.26.3

SURFACE FINISH

0.10.2

0.2 0.1

0.40.8

0.40.8SYMBOL

Ra u 25

25

1

9/29/2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-43Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL

JOB No.
000135/11-12

Drawing No.4174-43
SheetNext

14174-44

Machinist's Note:-
01) Remove the sharp corner & edges with 1mm. chamfered &

shaft fillets to be 1mm. radius unless otherwise specified.
02) All dimension are in millimeter (mm.) unless otherwise specified.

B

Plot Date :-

SheetRevision

11

2 3 4 5 6 7 8 9 10 11 12

1 2 3 4 5 6 7 8 9 10 11 12

A

C

D

E

F

G

H

B

A

C

D

E

F

G

H

Please Do Not Scale. If in Doubt, ASK. ALT.No.REV.

1

REVISION DETAILS APPROVEDDRAWN CHECKED

DIM 56 WAS 60
B.M.TRAJESHC.S

1
04-05-2012

C.S / 1/10/2012
RAJESH / 2/17/2012

1:2

10.45DRIVE SHAFTIS:187545 C81

WEIGHT (Kg.)
REMARKS

TotalEach
DESCRIPTION

IS & DIN
Std.

MATERIALITEM NO.QTY.

01 10.49

SMS DRG. No.- 0301512-00.101_07
BHEL REF. No.- 1-7-0123.99-08015

021 0.030.03KEY 12x8x40 L.GIS:1570-II40C8

40C8 0.040.04KEY 12x8x50 L.GIS:1570-II031

0.2KEY 18x11x125 L.GIS:1570-II041 40C8 0.2

B.M.T / 2/17/2012

04-05-2012 04-05-2012

3.2 1.6

247 55 68.5 190 68.5 33

10741.5

18

Ø4
0+0

.01
-0

.01
j6

Ø4
2 0 -0

.02
h6

Ø4
5+0

.02
+0

k6

Ø5
0

Ø6
0+0

.01
2

-0
.00

7j
6

Ø5
0

Ø4
5+0

.01
8

+0
.00

2k
6

Ø4
2.5

 0 -0
.16

h1
1

Ø4
2+0

.01
-0

.01
j6

48
28 10

R.5 TYP.
R1

R.5

56
718

11

45
R6

1

1
A

A

B

B

C

C D

1.6 1.6

53
 0.00
-0.20

18
 0 -0

.04
N9

SECTION A-A
SCALE 1 : 1

35
 0.00
-0.20

12
 0 -0

.04
N9

SECTION B-B
SCALE 1 : 1

3.801.85
+0.14
 0 H13

1 45°X

DETAIL D
SCALE 4 : 1

3.2
3.2

37
 0.00
-0.20

12
 0 -0

.04
N9

SECTION C-C
SCALE 1 : 1

BHEL DRG NO:2-9-1157-00-00231



DETAIL OF GEAR LOCK PLATE

ROLLER TABLE-1

2:1

CAD/A4
Untoleranced dimensions should confirm to IS:2102 (Part1):1993 Medium.

±1.2
4000
2000

±0.2
±0.1

120
±0.3

400
±0.5

1000
±0.8

±2.0
up to (mm)

over (mm)

value (mm)

Permissible deviations for Linear dimensions(medium):

±3.0

4000

-

-6
630

30
120

400
1000
2000

120
400

up to (mm)

over (mm)

value (Deg)

for Angular dimensions(medium):

16
630

30
120

±10'
±30'

±20'
±6'

1.6 1.6

12.5

12.5

3.2
6.3

3.2
6.3

SURFACE FINISH

0.1
0.2 0.2

0.1

0.4
0.8

0.4
0.8

SYMBOL

Ra u
25 25

1

27-02-2012

Drawn By / Date
Chkd. By / Date
Appr. By / Date

P.P. Rolling Mills Mfg. Co. Pvt. Ltd.
Plot No. I-42, DLF Ind. Area, Phase-l, Faridabad (Haryana)
Phone +91 -11 - 26836340,  26848885,  26313774
Fax. +91-11-26836335, website:www.pprm.in

4174-49
Drawing No.:-

PPRM

Scale

Format / Sh.Size

Title.

Equipment

Client
BHEL (TRICHY)

JOB No.
000135/11-12

Dr
aw

ing
 N

o.
41

74
-4

9
Sh

ee
t

Ne
xt

1
41

74
-5

0

B

Plot Date :-

Sheet
Revision

1
0

2
3

4
5

6
7

8
9

10
11

12

1
2

3
4

5
6

7
8

9
10

11
12

ACDEFGH

B ACDEFGH

Please Do Not Scale. If in Doubt, ASK.
ALT.No.

REV.

-

REVISION DETAILS
APPROVED

DRAW
N

CHECKED

-
-

-
-

-
-

-
-

EW
 / 25-01-2012

RAJESH / 16-02-2012
B.M.T / 17-02-2012

= 
    

  2
2  

   =

2 No.Ø11

8

Ø50

BHEL DRG NO:4-9-1157-00-00315




